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B Haze
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= X XH Ctel (S (=) (] HA2 OH l—Lli'E =2}
TH'O&'JT‘I(QIJH)'HITAI':I.;O—I 01'&—- 0:"&.0” HIDLED
S AOISHt 31,283,961 28,587,895 2,696,066
= 5,110,000
& 3,490
Al 26,170,471
Az 31,172,225 28,463,713 2,708,512
= 5,110,000
& 3,490
Al 26,058,735
HII=22 22& Xl 16,484,333 16, 165,984 318,349
HOIZ Xcl 2l - 2=28t 132,660 177,865 A45,205
201 Zet23d] 13,140 15,100 A 1,960
01 AtR2elt| 13,140 15,100 A 1,960
O YEt=2H| 7,640
o TN, AL, BAE, MEHDIS Srels
== 13,500& » 360& 4,860
o HII2 s MIEE HE
5003 * 4500 * 45 900
o HYI= HHEX & XMelgdd I=sul S
SIESS 1,800& * 5002 * 15 900
o FOIEY a0 FE
70,0003 * 14002 = 13l 980
O axz 5,500
o AHHIIE SYSI| =HEHI(24D1)
300,000& * 103l 3,000
o A4LHIIS S =HEL(EDZ)
250,000& * 103l 2,500
202 O4Hl 2,520 2,760 A240
01 2Bl 2,520 2,760 A240
O HJI= =, delgdh HE, BF, A2 &
sHE 75,0003 * 2 * 22 = 33 900
O HYl=2eld HEns & 2E ML 4
75,000 * 2 * 3 x 23] 900
O gxl A4 HII=S LA
20,0003 * 3Y = 3 * 43| 720
307 gI2to|d 15,000 18,000 23,000
05 QIZtRIE = 15,000 18,000 23,000
O 24 & AT 29 i HDIE I
==z 15,000,000& » 14 15,000
308 XMHXIHMSOIA 102,000 142,005 240,005
08 JIEtRE= 102,000 142,005 240,005
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307 2I2+0I M 15,893,400 15,671,558 221,842
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05 QIZtRE= 15,893,400 15,671,558
O FaxUHAS 15,893,400
o =243 A 7,632,766
- Ql2H SHAHY
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543,677,000 * 14] 543,677
- Olg %A 362,654,000 * 14 362,654
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742,220,000 * 14 742,220
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175,082,000& » 14 175,082
— 2ot SHAL
301,545,000& * 14] 301,545
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7,040,000 * 14 7,040
o HE2BAHIA 4,685,643
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3,376,203,000& = 14 3,376,203
- 2ol B A
332,573,000& * 14 332,573
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< 1004 164.06& = 50008 * 128 985
301 LEE M= 4,800 9,600 24,800
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405 KHakH =4 6,100 6,000 100
01 M ESSF S 6,100 6,000 100
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61,0002 * 100K 6,100
Hes 2cl+AH 55,826 54,190 1,636
= 3,490
Al 52,336
201 &er=gHl 31,376 43,080 A11,704
01 At2teldl 24,250 35,940 A11,690
O get+=ZH 2,850
o H g&s 2cl=+=He A
100,000& * 20K 2,000
o s 2oliE 828 #23 MR
1002 * 5,0000H 500
o FUSEE &% A
70,0003 * 544 = 18] 350
O 23+ 800
o HEESZHMU=s 2223 829
3 =g 100,000 » 2 * 43 800
O gxt= 20,600
o BEHEFNE AN HEXMSE 2SI
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02 3322l 7,126 7,140 yagrit
O gz 2,002
o MBS HEHD LU (AUER)
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O A& ZHIs Y] 5,124
o HEsEs dE&8D REs
42,700,000& * 3& * 4% 5,124
202 0ddl 3,150 3,510 2360
01 2LHH LI 3,150 3,510 2360
O MEES =2cl+=H dlu X &l
50,0003 * 24 = 3& = 33 900
O THXIY HEEE =
50,000 * 5% * 3 » 33 2,250
206 M= 4l 600 600 0
01 M=l 600 600 0
O MHEEE HEE YWHAZ(2R) 7
25,000% * 43| » 63 600
301 YerEAz 18,200 7,000 11,200
= 2,240
Al 15,960
12 JIEt2 4= 18,200 7,000 11,200
O MEsEE =H Y3 10&  700,000kg 7,000
O HHY =H EdHd=3 XF 503 * 224,000kg 11,200
L= 2,240
Al 8,960
405 KHobE=H| 2,500 0 2,500
L= 1,250
Al 1,250
01 Y EFFH = 2,500 0 2,500
O s248 81d =g 500,000& » 5044 2,500
& 1,250
Al 1,250
131238 ALZA 4,050 4,350 A300
201 LEt23H| 1,500 1,800 A300
01 At 2teltl 1,500 1,800 A300
O et=2| 1,500
o 131835 ANEYUN 28 M MA
300& = 2,0000H 600
o 13/ EF AI2LH CHH AEIH R EEE
EIAH HIE 300& = 2,0000H 600
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AH ME 300& = 1,0000H 300
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= 5,110,000
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SAEHIIZ SEHMEAIE HEAMY 10,763,320 8,006, 120 2,757,200
= 4,360,000
Al 6,403,320
201 223 2,280 1,560 720
01 AtR2elt| 2,280 1,560 720
O YEt=2H| 280
o FOXAEAM 22 =2 HMA
70,0002 * 43| 280
O 28+ 2,000
o FOXFEAM 32+
100,000& * 5H * 43] 2,000
202 0ddl 3,240 3,660 2420
01 2o 3,240 3,660 A420
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75,000 * 2H * 2 x 63 1,800
O HII=HMelAld &X &¢el (bl
20,000% * 3F * 2 » 12F 1,440
301 LptEAz 800 900 A 100
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O ZAEHIISSE MeIAIE 2 =039 &
A 20,000& » 20% * 23] 800
401 ASHIL 2] 10,757,000 8,000,000 2,757,000
= 4,360,000
Al 6,397,000
01 Al&dI 10,348, 111 7,325,600 3,022,511
O ZAEHIISSEM2IANE HEAMSY
10,526,000,000& * 98.31/100 10,348,111
= 4,240,000
Al 6,108,111
02 2eltl 384,680 656,000 A271,320
O SAEHDISSEMeAE H4Ad 22
el 384,680,000& * 14 384,680
= 120,000
Al 264,680
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201 ety 169,893 147,786 22,107
01 AtR22ld| 70,424 73,786 A3,362
O get+==H 8,824
o He ANMEE A2AE THOISA SA
FE=Z 4,400,0008 * 1A 4,400
o Mot AME +HAN +42
172,800 * 3XI& * 2004 » 43 4,148
o SASKASAL SHE 2TAN +28
23,0003 * 128 276
O gxz 61,600
o FYUEAE S& ZHl SR (EIFQ!)
500,000& » 2942 * 23| * 63 12,000
o AMIHEAIE SE FH SRH(SZE)
350,000 * 2)HA = 28] » 6E 8,400
o 20| E S£ ZH| LI (Z2Y )
500,000& * 10J0H4 * 42 20,000
o AOINBE =E FY| ARH(ED)
350,000 * 10944 * 4 14,000
o ZOIHEE SEMN 28 4|
1,800,000& » 2& * 23 7,200
02 33234l 99,469 74,000 25,469
O AE&HI=AHI 4,000,000,000& = 1.5% 60,000
O Refdstyl 7,000,000& = 3CH 21,000
O sgE+ MER 506& » 100& * 365 18,469
202 044l 4,720 2,760 1,960
01 =UAbI 4,720 2,760 1,960
O SIMONAIE & ol
50,0003 * 2H » 123 1,200
O ZOIHEE 2g2c AH 834
50,0003 * 2% * 123 1,200
O FIdUEANE ZA Al MF
50,0008 * 28 = 43] 400
O SASXASAL BT ol
20,0008 * 23 = 4& » 123 1,920
206 =4 31,680 41,430 A9,750
01 MH=Hl 31,680 41,430 29,750
O geiorz D(22 2 ooy
25,0008 * 16904 » 60 24,000
O =M 7
4,000& * 0.2m = 1,200m" % 2JHA * 43 7,680
307 212told 2,215,000 2,386,800 171,800
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215,000,000& = 1& 215,000
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= 750,000
Al 410,600
201 2pt23H] 8,500 0 8,500
01 AtS2teltl 8,500 0 8,500
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3,500,000& * 14 3,500
o ZAE2A AMZ Bh=
2,500,000& * 23| 5,000
202 G4d| 600 0 600
01 2B 600 0 600
O HIIZHMeIANE EXgSF g9
75,000 * 2 * 2 x 23] 600
301 LEtEA3 1,500 0 1,500
10 AL HIZ2 &= 1,500 0 1,500
O HIISHelAlE =X 01 X AsH (A
25) 50,000& * 10 = 3 * 13 1,500
401 A&BIZ R0 1,150,000 0 1,150,000
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Al 400,000
01 Al&tl 1,145,860 0 1,145,860
O &t NE MEHDISE SEXCAE ZX
1,150,000,000& * 99.64/100 1,145,860
= 750,000
Al 395,860
03 AlE=0HbI 4,140 0 4,140
O &tH NE MEHIIZ SEMeAE &K
1,150,000,000& * 0.36/100 4,140
sHE HII2 SEMeAE EXAS 72,350 1,196,550 A 1,124,200
202 Oid| 1,350 1,350 0
1 2L 1,350 1,350 0
O HIIZHMelAE EX 22 89
75,0003 * 3% x 22 « 33| 1,350
301 YetEas 1,000 0 1,000
10 AL HIEAZ 1,000 0 1,000
O HIISHMelAE FEXS F0 sX| HSH (Y
o) 50,0003 * 10 » 22 = 13| 1,000
401 Al&ZHIZ20HH| 70,000 1,150,000 21,080,000
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01 Al&tl 69,370 1,142,395 A 1,073,025
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70,000,000& * 99.10/100 69,370
03 AlIZ=0Hbl 630 7,605 6,975
O g8 HoISXMeld =H &x=E AMESA
70,000,000 * 0.90/100 630
SMXIS 2H0I0HS & HIAM 114,743 114,743 0
201 2Bt 113,393 113,393 0
01 AtR22lt| 113,393 113,393 0
O HIIZ 28t &4 Xt
1,800,000& » 3 » 10002 54,000
O g HOlZ2 == 4l gxH(zZ3del)
500,000& * 3 » 10JHA 15,000
O He HDIE2 =22 Zul 2x(gx)
350,000& * 32 = 40H * 10004 42,000
O HIIZ2Ael =5 15,950& » 150& 2,393
202 0ddl 1,350 1,350 0
01 2L 1,350 1,350 0
O 20IHEE HM 8F =0l
45,0002 * 38 » 12 = 108 1,350
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eI 23| 15,608 17,158 21,550
101 Ql24d| 11,408 12,958 21,550
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6,460 » 3 * 20Al12F « 128 4,652
203 HR=&H| 4,200 4,200 0
04 RENBIHRFLYI 4,200 4,200 0
O SAIOIZIHEA20Y) 350,000& » 12# 4,200
J23l 96,128 107,024 A 10,89%
Jl2&| 96,128 107,024 A 10,89%
201 2pt23d] 63,738 74,584 A 10,846
01 AtSZelH| 43,738 47,038 A3,300
O Lpt=2H| SAA 4 13,468,000& » 14 13,468
O =gt 27,270
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O 222= & MAl SHH &
20,000,000& = 14l 20,000
202 O4Hl 32,390 32,440 250
01 2LHHbI 19,670 19,720 250
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02 EHMNHI 12,720 12,720 0
O HolS&3 AE X& &=
160,000& * 498 » 123 7,680
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